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1. Select the number that can replace the question mark (?) in the following series.

उस सूंख््ा का च्न करें जो ननम्ननिनित श्रूंििा में प्रश्नवाचक नचन्ह (?) को प्रनतस्थानित कर सकती है।

25, 26, 53, 160, 641, ?

a) 3403

b) 2908

c) 3206

d) 3202

C



2.
Select the correct mirror image of the given figure when a mirror is placed on the 

right side of the figure. दी गई आकृति की सही दर्पण छति का चयन करें जब दर्पण को आकृति के 

दाई ंओर रखा जािा ह।ै

a)

b)

c)

d) D



3. In a certain code language, 'FROZEN' is coded as '504' and 'TONSILS' is coded as '756'. How

will 'MARINE' be coded in that language? एक तनतिि कूट भाषा में, 'FROZEN' को '504' और

'TONSILS' को '756' के रूर् में कोतिि तकया जािा ह।ै उसी भाषा में 'MARINE' को तकस प्रकार कोतिि तकया

जाएगा?

a) 652

b) 456

c) 520

d) 360

D



4.
Select the option that is related to the third letter-cluster in the same way as the second 

letter-cluster is related to the first letter-cluster. उस नवकल्ि का च्न करें जो तीसरे अक्षर-समयह से 

उसी प्रकार सूंबूंनित है जैसे दयसरा अक्षर-समयह िहिे अक्षर-समयह से सूंबूंनित है।

AZW : GFC :: LSM : ?

a) DMT

b) QOS

c) RYS

d) RXY

C



5.
In a code language, TOUCH is written as UTOHC. How will PLANT be written in that 

language? एक कय ट भाषा में TOUCH को UTOHC नििा जाता है। उसी भाषा में PLANT को कैसे 

नििा जाएगा?

a) TPANM

b) TPNLA

c) QMBOU

d) ALRPT

B



6.
Select the correct combination of mathematical signs to sequentially replace the * signs to

balance the following equation. ननम्ननिनित समीकरण को सूंतुनित करने के निए * नचह्नों को क्रनमक

रूि से बदिने के निए गनणती् नचह्नों के सही सूं्ोजन का च्न करें।

40 * 15 * 3 * 72 * 9 = 77

a) +, ÷, −, ×, =

b) ×, ÷, +, −, =

c) +, ×, ÷, −, =

d) +, ×, −, ÷, =

D



7.
Which of the following Venn diagrams correctly represents the classes given below.

clothes, flowers, red

किडे, फय ि, िाि

C



1100



8. Four number-pairs have been given, out of which three are alike in some manner and one is

different. Select the number-pair that is different. चार सूंख््ा-जोडे नदए गए हैं, नजनमें से तीन नकसी

न नकसी रूि में एक जैसे हैं और एक नभन्न है। उस सूंख््ा-्ुग्म का च्न करें जो नभन्न है।

a) 19 ∶ 324

b) 5 ∶ 35

c) 7 ∶ 63

d) 13 ∶ 195

A



9.
Introducing a woman, Sanjay said, "She is the daughter of the woman who is the mother of

my mother's husband." How is the woman related to Sanjay? एक मनहिा का िररच् देते हुए,

सूंज् ने कहा, "वह उस मनहिा की बेटी है जो मेरी माूं के िनत की माूं है।" मनहिा का सूंज् से क्ा सूंबूंि है?

a) Sister

b) Mother

c) Sister-in-law

d) Aunt

D



10. Select the option that is related to the fourth number in the same way as the first number is

related to the second number and the fifth number is related to the sixth number.

उस नवकल्ि का च्न करें जो चौथी सूंख््ा से उसी प्रकार सूंबूंनित है जैसे िहिी सूंख््ा दयसरी सूंख््ा से

सूंबूंनित है और िाूंचवीं सूंख््ा छठी सूंख््ा से सूंबूंनित है।

127 : 11 :: ? : 16 :: 367 : 19

a) 280

b) 248

c) 216

d) 262

D



11.
Select the option in which the words share the same relationship as that shared

by the given pair of words. उस नवकल्ि का च्न करें नजसमें शब्द वही सूंबूंि साझा करते

हैं जो नदए गए शब्दों के जोडे द्वारा साझा नकए गए हैं।

Astronomy : Stars

िगोि नवज्ञान: नसतारे

a) Philology : Texture

b) Seismology : Theatre

c) Numismatics : Coins

d) Psychology : Cells

C

भाषाशास्त्र: बनावट

भयकूं ि नवज्ञान : रूंगमूंच

मुद्राशास्त्र : नसकके

मनोनवज्ञान : कोनशकाएूं



12.
Four letter-clusters have been given, out of which three are alike in some manner and one is

different. Select the letter-cluster that is different. चार अक्षर-समयह नदए गए हैं, नजनमें से तीन नकसी

न नकसी रूि में एक जैसे हैं और एक नभन्न है। उस अक्षर-समयह का च्न करें जो नभन्न हो।

a) HNTZ

b) IPVA

c) VBHN

d) AGMS

B



13.
If 'A & B' means 'A is the father of B' and 'A @ B' means 'A is the sister of B', then which

of the following expressions means 'H is the father of M'? ्नद 'A & B' का अथथ 'A, B का निता

है' और 'A @ B' का अथथ 'A, B की बहन है', तो ननम्ननिनित में से नकस भाव का अथथ 'H, M का निता है'?

a) H @ K @ P & M

b) K & H @ P @ M

c) M & K @ P @ H

d) H & K @ P @ M

D



14.
Statements:

No field is a house.

All fields are parks.

Conclusions:

No house is a field.

Some parks are fields.

Some houses are fields

a) Only conclusion II follows

b) Only conclusions I and II follow

c) Only conclusions II and III follow

d) All the conclusions follow

B

कोई फील्ड हाउस नहीं है।

सभी फील्ड िाकथ हैं।

कोई हाउस फील्ड नहीं है।

कुछ िाकथ फील्ड हैं।

कुछ हाउस फील्ड हैं





15.
‘East’ is related to ‘Direction’ in the same way as ‘Summer’ is related to ‘______’.

'ियवथ' का सूंबूंि 'नदशा' से उसी प्रकार है जैसे 'ग्रीष्म' का सूंबूंि '________' से है।

a) Room Cooler

b) Temperature

c) Heat

d) Season

D



16.
Three of the following four words are alike in a certain way and one is different. Select the

odd one. ननम्ननिनित चार शब्दों में से तीन एक नननित तरीके से एक जैसे हैं और एक अिग है। नवषम का

च्न करें।

a) Lungs

b) Heart

c) Liver

d) Nose

D



17.
How many triangles are there in the given figure?

दी गई आकर नत में नकतने निभुज हैं?

a) 17

b) 15

c) 16

d) 14

B



18. Select the figure from among the given options that can replace the question

mark (?) in the following series. नदए गए नवकल्िों में से उस आकर नत का च्न करें जो

ननम्ननिनित श्रूंििा में प्रश्नवाचक नचन्ह (?) को प्रनतस्थानित कर सकता है।

a)

b)

c)

d) D



19.
Six friends, A, B, C, D, E and F, are sitting opposite to each other in a circle, facing towards

the centre. C and D are adjacent to each other. Also, B and F are adjacent to each other. E

is sitting opposite to B. F is sitting to the left of B. Who is sitting between E and F? छह नमि,

A, B, C, D, E और F एक वरत्त में एक दयसरे के नविरीत कें द्र की ओर मुि करके बैठे हैं। C और D एक दयसरे के

आसन्न हैं। साथ ही, B और F एक दयसरे के आसन्न हैं। E, B के नविरीत बैठा है। F, B के बाई ूंओर बैठा है। E

और F के बीच में कौन बैठा है?

a) A

b) F

c) E

d) B

A



20.
Select the number from among the given options that can replace the question mark (?) in

the following series. नदए गए नवकल्िों में से वह सूंख््ा चुननए जो ननम्ननिनित श्रूंििा में प्रश्नवाचक नचन्ह

(?) को प्रनतस्थानित कर सके।

38, 42, 58, 94, ?, 258

a) 164

b) 108

c) 152

d) 158

D



21.
Which two numbers (NOT digits) should be interchanged to make the given equation

correct? नदए गए समीकरण को सही बनाने के निए नकन दो सूंख््ाओूं (अूंकों को नहीं) को आिस में बदिा

जाना चानहए?

5 × 40 ÷ 8 + 3 – 14 = 53

a) 8 and 14

b) 5 and 3

c) 5 and 8

d) 8 and 3

C





22.
Select the Venn diagram that best represents the relationship between the

following classes. Human, Male, Animal (H: Human; M: Male; A: Animal)

मानव, नर, िशु

a)

b)

c)

d) C



23.
Choose the number from the given alternatives which can be placed in place of the question

mark (?) in the series given below. नदए गए नवकल्िों में से वह सूंख््ा चुननए नजसे नीचे दी गई श्रूंििा में

प्रश्नवाचक नचन्ह (?) के स्थान िर रिा जा सकता है।

9, 14, 34, 114, ?, 1714

a) 524

b) 914

c) 654

d) 434

D



24.
If, 5 + 7 = 47, 3 + 8 = 35, 9 + 2 = 29 then 7 + 4 = ?

्नद, 5 + 7 = 47, 3 + 8 = 35, 9 + 2 = 29 तो 7 + 4 = ?

a) 42

b) 45

c) 37

d) 39

D



25.
Study the given pattern carefully and select the number that can replace the question mark

(?) in it. नदए गए िैटनथ का ध््ानियवथक अध्््न करें और उस सूंख््ा का च्न करें जो उसमें प्रश्नवाचक नचह्न

(?) को प्रनतस्थानित कर सके।

7 343 3

5 ? 4

2 256 8

a) 625

b) 250

c) 525

d) 225 A






